MA3832 Name: géﬁm <

Quiz 1

B Term, 2011
Show all work needed to reach your answers.

1. (15 points) Consider the function
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1. Set up the limit which, assuming it exists, is f'(0), the derivative of f at z; = 0.
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2. Is f differentiable at z = 07 Please explain why or why not.
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2. (10 points) Please prove that a differentiable real-valued function on R with bounded
derivative is uniformly continuous.

Le? /' 5( 7% m//&ée/%/m 177 5 77027,
Sence JF/I\IW FM>0 <L, ?x)/(/v{
Xe%ig fuee /s WJ/ K, irs /é;)

/50 WWS v R, Fhew

;ézf'w v jéﬁ .?ce(x ;7%/)//) =/ (%)
S, #6789 = I &)(/V—M/%x/“- Vew Fnr
&ro, lef f = G Th Iy-xI< = 5, @{M) fRfE,
%g/drf (s /éy%/m fﬂx) W/ﬁr &y c




